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in figures :

2 ) Write the following numbers

a) Nine hundred thousand four and three thousandths.

b ) One thousand forty —four and eight tenths.

¢ ) Twenty thousand ninety —seven and fifty two hundredths.

d ) Seven hundred four thousand two and three thousandths.

e ) Sixty eight and ninety seven thousandths. s

W

f) One hundred five and four hundredths . (05 .04

)
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3 ) Write the value of the digit 7 in the following numbers:

o s ot

A) 45708 .6 Tlee)

B) 844.473 ONOE

&) 12097 (@O

d ) 70309.24 qC,QQ()

4) Write the place value of the digit 9 in the following numbers:

A) 605.679 s b) 890.56 | Tens
C) 9007.84 | Thousouds d) 75632.09| Hrosdredths
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The Primary Stage of Grades (4-5)
First Semester 2022 -2023

Name: M@S Subject: Mathematics

LS Revision worksheet (2)  Class: Grade 5 (C,D,E F&G )

Objectives:
¢ Write numbers in words , figures and in expanded form.
*  Know what each digit represents in Whole numbers up to a million.
¢ Know what each digit represents in one- and three-place decimal numbers
e Order numbers with up to two decimal places (including different numbers of places).
¢ Round whole numbers to the nearest 10, 100 or 1 000.
* Round a number with two decimal places to the nearest tenth or to the nearest whole number.
¢ Toadd and subtract whole numbers and decimals.
* Multiply and divide any whole number from 1 to 10 000 by 10, 100 or 1 000 and explain the effect
* Multiply and divide decimals by 10,100 or 1000 .
* Find the difference between a Positive and negative integer, and between two negative integers in a
context such as temperature or on a number line.

1) Write the following numbers in words :

a) 8,096,009. 56 _
Eight milhon , ninety - six Hrousand nine and Fuf#y'S\

=g =z

b) 8}05,,9\%}7%\2 i

-

Eight thousand , £ifdi=hine. owd seventy Live Housaldihs
T/ V4 =,

¢)79.16

Geventy — pine and si xteen f\W\drec{“Lg :

d) 705244.08

Sexven hundeed Five Fhousand |t budecd ‘%"b
Four and €ight hundred fhs -

. ¢ . Sy T, 3
Accredited by &mﬁ-ﬂ%ﬂg edexcel C!‘g}_ %D: ﬁj Uodaqine
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8) Write >, < or = to make the following statements

a) 467 .080

b) 8290

467.008

32.90

c) 2346. [5> | 2385

true .

9 ) Complete the table by rounding the following numbers :

ey
r To the nearest To the nearest To one decimal
| BN 100 whole number place
4913.098 4qoo L\Q\’b L\C\\B. \
344.07
200 23 Y 344.,|
99.83 ee Vo aq. 4
745 .36 Jo00 e B
903 .97
v 200 qoH AeY4.0
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12) Here are eight numbers :

1.2% 0b5 048 o0RM8 04  0%04 0.875

Use the clues to identify one of these numbers:

e The number is less than 1

e The number is greater than 0.3
e The tenths digit is even

e The hundredths digit is even

; . o
e One hundred times the number gives a whole number answe

e The number multiplied by 10 gives an answer greater than 4

The number is O » Y8

13) Fill in the box to make the following statements true:

12500. O
a) 1250001 = 100 = b) 72.31 x 1000=[F23)\©

¢) 0869+ 100 = o[- 008k )9060+100=  [q0.60

¢)12.732x 10= 7 £) [0-3% x 100 =37
g) 52.23 + =5223

Lt

0375

h) 601 x = 601000

- £ 1000 = ) 521.6 x 1000 =521600
i) [4q3] +1000=0.443 b

It
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21 )Here is part of a number line .

What are the missing numbers?

=R
! A b
t =l pi/\? e
Sk, el 20 g O oy o il 15 24 o0 =5 =49
V\_/“
22 ) Here is part of a number line . 29
The difference between A and Bis 35 .
A B
t e R
—16 -5 O»5Io NG igyey, 2SS ’55%"—;:§
What is the value of A? e :t:z/p .

23 ) What is the difference between these pairs of numbers.

a)6and-; | S5 b) -3and-5
QL ST e A~ =
= 0O ¢ -5 =2y

c)-5and3 oS d)oand-z
AN E B Lo Y

=5 Pe) %) ks o
24 ) Write < or > to make each statement correct.
al) oSS 16 b) 34 [i] -100
C) -356 <y d) 29 5_\ 0

E) 64.73x10 | >| 643.7+100 F) 0.763 o
‘ . +1000
6413 6457 z 0.0

10
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14 )Write the number th

hat represent each letter on the number lines below.

b) A T S IRV
1 I Y I I I 1 Al T T
-50 0 25 50
: i < /Jc.‘éi}}—
15 ) Write each set of temperaturesin order starting with the’co/Tdﬁ_SL;
a) =€ b 40 C f) '7°C ) '13°C ) 13 HC
; 0, o () o =
-13°C ,~HlositiGNE s, 13 &
b) 6 °C ) -60 C ) OOC f) '7DC ) '4° C
S o % o ° °
-Fe , -5C i CHEIPRCIGiC C.

16) The temperature at 8 pmis (-2 °C).By midnight it is 6° colxder

What is the temperature at midnight?

SiE
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17) The temperature at 8 am is (- 1°C). By midday it is 4° warmer.

What is the temperature at midday?

-2 0 _~
Bt Mﬁaﬁ%%
e

18) - purchased a bag for $134.60, a book for $328.23
and a tie for $80.55.

How much is left with him if he had $600 in all?

POO— 590 q 1o
I134. 60 Lo BE

32823 S il
53 goseez lef

19) The difference of two numbers is 68.09.

The smaller number is 353.48.

Find the other number. A

©
- 353.4%
- _joizacil
1y s =]
SArT 2
20) Jaclyn weighs 27.14 kg, Mary weighs 31.37 kg and Jenny

weighs 28.38 kg.+

What is theieight?
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10) Fill in the boxes with the correct numbers to make the following

statements true :

a) 0.28 + D= =1 b) 0.19 + =1l

c) |2.93| + 7.03=10 d) 094 + =10

e) 10 - [E5/Y2[S=RSY )i ool = 0.83
4___’—.
g) 97 -[p54] = 2958 h) (33,2 4%+ 63.08 = 20047
Jg | \o? '3
ﬂzw 28 2z 47
me = C5 0%
L5 s 3

11) Sara makes a four digit number using 2, 4,5 and 8.
The tenths digit is half the unit digit.
The hundreds digit is greater than 3.

What could Sara’s number be?
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s the f ing statements true:
5) Kill in the missing numbers to make the following

a) 64509= 60000+4000+ 500 |*9
b) 793.04=700+ [ Qo |+3*

¢)faodz.0p = 9000 +40+7+0.08
d) 9 hundredths + 3 tens + 8 thousandths -+ 4 thousand = q

Q.09 30 O.00% 000

6 ) Partition the number 84 603.279 .

7) Order the following numbers starting with the smallest.

) oL S >
a) 104g.L03 104%%0 5 105&%3 . 1504.30 , 1450.30

5

[045.03 , [0S .3 IO SEINCENMEISIo 2, 150Y .3

Smallest Greatest
@ & O
b) L6326 611526 SN [65)-5 6 E. 56..@?26 S 61@2%6

[6-256 , |b, 526, 66-5%/. 6. 256 ,6l.5%

Smallest Greatest





